Normally, structural analysis software doesn’t provide torsional analysis for members under torque, the following is the method to get torsion for beams with moment
connection
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2). Get Rotation Stiffness for End Supports of B-1

(Analyse B-2 with www.webcivil.com)

For Beam (B-2)

Torsional Analysis of Open Section Thin-Walled Beams (FEA)
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3). Get End Moments for B-1

(Analyse the structure with RISA 3D)

For Beam (B-1)

with end rotation spring 13947 kN.m /rad
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Moment at end of beam (B-1) is 28.5 kN.m



4). Check Maximum Warping Normal Stress on B-2

(Analyse B-2 with www.webcivil.com)
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Utility Ratio = 70.6 MPa / (0.9 x 350 MPa) = 22.4%

Bi-Moment Bw (kN.m*2)

OK

S

kM.m



